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1A SXAIS 2 = 3,901 2,297 1,604
OLgze S2aeR(2%)  3,901,000& 3,901

2,730
176
995

= MW

e s 38 4 7,200 4,200 3,000

201 fEt2E | 7,200 4,200 3,000

] 7,200 4,200 3,000

HQIE ST R £3NAMSAE S A

=g 100,000& 6% «123l 7,200

SSTM ES2X JtetsN 5,239 0 5,239
3,667

236
1,336

= M W

307 21201 & 5,239 0 5,239
3,667

H
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Zoje=x 2D

=
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 236
Al 1,336
11T M SXASEX 5,239 0 5,239
OEs2x JHa30(3Y) 5,239,000 5,239
= 3,667
< 236
Al 1,336
OHOI =X LetX& 3,276,541 2,961,839 314,702
< 532,225
Al 2,744,316
SH O+ 172,800 171,190 1,610
< 86,400
Al 86,400
301 et a3z 172,800 171,190 1,610
< 86,400
Al 86,400
01 MEIBEE 263 172,800 171,190 1,610
O=Hl &< (357Y) 172,800, 000& 172,800
< 86,400
Al 86,400
HAS Zojo! o/ 2Hl N 25,234 25, 140 94
= 12,617
Al 12,617
301 gt d= 25,234 25,140 94
< 12,617
Al 12,617
01 MI2EZE 06z 25,234 25,140 94
OXMAS ZEOHQ 22 Hl K& (179)
25,234,000 25,234
< 12,617
Al 12,617
FUA=RNEZ2 B2 15,180 14,448 732
< 7,590
Al 7,590
307 21201 A 15,180 14,448 732
< 7,590
Al 7,590
11 ALS S XAEE = 15,180 14,448 732
OZMeI=XsE 2=5(332It7) 15,180,000& 15,180
< 7,590
Al 7,590
o= N2 1,183,658 1,074,133 109,525
< 70,000
Al 1,113,658
307 2I2+0 & 1,183,658 1,074,133 109,525
< 70,000
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Al 1,113,658

05 RIZHRI &t 3 1,183,658 1,074,133 109,525
o&¥er=x2 29 1,152,218
-0l 24l (25Y) 778,312,000 778,312
= 70,000
Al 708,312
-H=< 103,683, 000& 103,683
= ES SR = 72,192,000& 72,192
-ASIEERE S 85,031,000& 85,031
-2Zl 113,000, 000& 113,000
OZOMA=SX 2 Al 2 31,440,000& 31,440

ZOHOISIIHFAL 2 194,974 189,880 5,004
< 18,738
Al 176,236

307 2I2t0l A 194,974 189,880 5,094
< 18,738
Al 176,236

10 M SXNANEHI2IHE=X 191,974 186,880 5,094
OZMAHIINFAIE 2 191,974
-0124H| (4¥) 121,647,000& 121,647
< 18,000
Al 103,647
M= 38,551,000& 38,551
-EAEEYZ 11,168,000 11,168
-ASIEERE S 9,608,000& 9,608
-2 24l 11,000, 000& 11,000

11 AISI S XA E = 3,000 3,000 0
OZOMAINHFAE MBEX 3,000,000& 3,000
= 738
Al 2,262

HOHAFEAREAE 29 171,355 164,858 6,497
< 10,000
Al 161,355

307 21201 A 171,355 164,858 6,497
< 10,000
Al 161,355

10 ALSISXAIEEE2GHEX 166,355 159,858 6,497
OZM=2UHESALE 293 166,355
0124 H| (4%) 113,886, 000& 113,886
< 9,000
Al 104,886
-M=g 21,129,000& 21,129
-El Y Z 10,436,000 10,436
-AEEEEEZ3 8,904,000 8,904
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-2dH| 12,000,000 12,000
11T A EXAIEEX 5,000 5,000 0
OQHHRUF2HESAIE AIL XA 5,000,000& 5,000
& 1,000
Al 4,000
*=3ESYHEH 29 225,230 187,620 37,610
o 22,523
Al 202,707
307 2Iz2t0| & 225,230 187,620 37,610
& 22,523
Al 202,707
10 M SXNANEHESIGHEX 225,230 187,620 37,610
O3 SdMEH 29(4Y) 225,230,000& 225,230
= 22,523
Al 202,707
NI X GAIS HEAE SMA E224E I 63,600 64,800 A 1,200
& 6,360
Al 57,240
301 et A= 63,600 0 63,600
& 6,360
Al 57,240
01 Al B & A 46 2 63,600 0 63,600
OXMAXSAZTHEANESAMAE S22
X< (38Y) 63,600,000 63,600
& 6,360
Al 57,240
ZOCIEXAYE 2F N(7TE) 77,739 76,000 1,739
& 7,774
Al 69,965
301 et A= 19,350 0 19,350
01 Al B & A 462 19,350 0 19,350
OHMAHZ=ANY ZNATHEAESAMI S22
IR (TE) 19,350,000 19,350
307 2iz2to| A 58,389 76,000 A 17,611
= 7,774
Al 50,615
10 MM SAANEEHESIGHEX 58,389 76,000 A 17,611
OXMHAUZXAIE 2 XH(7TE)
58,389,000 58,389
& 7,774
Al 50,615
ZOHCI=ZXAIE LA XRMU4E) 12,677 13,000 A 323
= 3,803
Al 8,874
307 2iz2to| & 12,677 13,000 A 323
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SA BB (SH) - NRAY - B %Eﬁ 2t
= 3,803
Al 8,874
11T A EXAIEEX 12,677 13,000 AN 323
OQZAEX AL ALK X (4F)(32Y)
12,677,000 12,677
& 3,803
Al 8,874
ST E SSEN2YE 33,000 32,000 1,000
307 2iz2tol & 33,000 32,000 1,000
10 M SAANEEHESIGHEX 33,000 0 33,000
O=Es&He s 9 E2SsEN 29 33,000
-0IdHl S 26,365,000 26,365
-2YH(XMHEFRAH S) 6,635,000 6,635
ZOHC MEOISARHAEH 29 266,790 237,440 29,350
= 26,679
Al 240,111
307 giztol A 266,790 237,440 29,350
= 26,679
Al 240,111
10 MM SAANEEHESIGHEX 266,790 237,440 29,350
OXOQ MEOIsAJALdH 24
266,790,000 266,790
& 26,679
Al 240,111
SO QI D W LB 148,480 76,000 72,480
& 74,240
Al 74,240
301 et A= 148,480 76,000 72,480
& 74,240
Al 74,240
01 Al E & A 462 148,480 76,000 72,480
OZXOHQIDFF LHLEBEH| (401017)
148,480,000 148,480
& 74,240
Al 74,240
SSEM XS MESHE K& 151,800 142,500 9,300
& 76,800
Al 75,000
301 LBt A= 1,800 0 1,800
= 1,800
01 Al E & A 462 1,800 0 1,800
OZS XX SHMEMHE SAFA XA H|
A& 50,000& *3H «12& 1,800
& 1,800
307 2izto| & 150,000 142,500 7,500
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Al 75,000
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Al 45,500
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& 19,500
Al 45,500
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& 19,500
Al 45,500
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& 44,000
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307 2iz2to| & 88,000 80,000 8,000
== 44,000
Al 44,000
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& 44,000
Al 44,000
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01 AISIE & A 462 27,600 0 27,600
OXEMNUSX AR HRMAH N
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01 A2t 2| H| 315 500 A 185
OHMAXS X EX 1,050 *3000H 315
401 AlEHI L 2 0HY| 20,000 140,000 A 120,000
01 Al&H| 20,000 140,000 A 120,000
OZMRUH S MRA L A2 FIAESL
20,000,000 20,000
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OIS AIEH 14,500 13,500 1,000
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O& XTolo & FIHHIZ ZOHQIS & Al
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ORI L AL 10,000,000& 10,000

NNH L SSZ0HQ THEAIS 23,000 20,500 2,500
307 212t0| & 23,000 20,500 2,500
03 QIZIHY P ESIHIEX 23,000 0 23,000

OXMHROISXY EXX 2 (XNMEOMHL 0=
BX 2 HWEANY S) 23,000
e s 20,654,000 20,654
-2 %4l 2,346,000 2,346
A 2EEOH QI THEAFS 26,000 26,000 0




| = Xl o

3

At

2N

o o o o (e} o o o (e} o o o o o o o o o o o o o o
o0} [aN] o < <
~ «© < @ <
Kio
E
o
o o o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o
o (e} (e} o (e} o (e} o o o o o o o o o o o
© 0w |w |w w|w |wv w|w |w < | < < | < | < ol|lo|o
[aV} < < <
H3r
mZ
RS
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o O O o O
o Q [ee] [aN] [aN] o (e} o o o o o o o o o o o o o o o o o o o o o o < A < A
© N~ N~ o] o] Yo} Yo} Yo} Yo} Yol Yo Yo} Yol Yo Yol Yo Yo < < < <t < < <t <t (e} o () o < AN @
~ - - ST S| ——| 8 —
=
al
<
=
=
uo | o i 0F S @ o ] ]
8 M S 8 - S T8 8 S 8
30 S W0 S S aS TS S u S S
or i Q = o o o = o o =
W o N = oo ME=: = oS S
B3] o~ w2 = ™S '3 S =] rao
BJ 0y ™ mmm :_05 S w S w0 < m4 TAm
- L = 30
* 0 on 0 ~ iz
3l R G 2 0 o 4 = o
m. i ok ) 2 o - 70 m_m
= 70 20 0H 3 W oF sl | & s
: & ﬂ o Hl ~ = = = | o oF
~ - = ] 7 - 5) iR | = ujo 70 X a0
= RS S el I O B I B U o B I - ul R R I I
iof H o0 ok H il I KO = M tw | L ™ | H o M o
oF 3 o %0 o) - AT = O SH | W e I I B 30 o 30 i
w2 B g R g [RYRIR|_ X NS e L I I e N I .
X Kl |<0 KO R KO il K| ol = | K[ iof - K |R ol =K Ul |80 |8 o | = | K |K KO R | R |R ol
o oA wmw |Els|iws |S|S|W AW |S|H ST |R|w|eS| TS |Hw WS WS =)
W n < A< | TN | RO xmm A [Tl RO UK m Y I R I B OO T VI W[~ | RO Ry
RO al |3l O al O mla |z O b ol | O ol | O |t |0 O|=|a|x O Ko |l [ O ol
s |y 3 RlIs|= 5= N Ry Jlzs |y RO s | = o5 |= 5
g ™ S| ® Ao S| o S| N W | & S| ® -
o+ K0 R0 %0 R0 E! K0




AN ALEI =X

g Foje sxsd
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 11,520
04 D12t Z2XEES 23,040 0 23,040
OFfel=sXLRel MNRRNEHA(1H) 23,040
] 1,620,000& =128 19,440
< 9,720
Al 9,720
-Elx 3 1,800, 0002 1,800
= 900
Al 900
-= &l 150,000& = 12& 1,800
= 900
Al 900
201 Ler24E] 1,800 0 1,800
< 900
Al 900
01 At 22l 1,800 0 1,800
oF=TAT HENEH S|
150,000& = 12& 1,800
< 900
Al 900
AN ZOHQl HOIAIE AX d=ZX At 17,269 0 17,269
< 5,181
Al 12,088
307 gl2tol & 17,269 0 17,269
< 5,181
Al 12,088
10 ALSISXAIEEE 2 H EX 17,269 0 17,269
OAlZ Z0HQ HAAIE AR &= AH4300 &
) 17,269,000& 17,269
= 5,181
Al 12,088
HOHQ MM 397,852 394,271 3,581
= 93,162
Al 304,690
O ATHEAIE 2 S 264,410 232,829 31,581
< 26,441
Al 237,969
307 gl2tol & 264,410 232,829 31,581
= 26,441
Al 237,969
10 AL SXNAIEEE2EHEX 264,410 232,829 31,581
OZOMAXMNATNE AL 2 264,410
-0124H| (4¥) 150,214,000& 150,214
< 26,441
Al 123,773
-M=g 40,726,000 40,726
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A 28,000

307 21201 A

= M
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66,721

161,442

A 28,000

11 AL S XA

QR

g2x
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= H

133,442

133,442
66,721
66,721

161,442

A 28,000

= Hn
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744,595
357,636
930,479
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229,864

= Hn W
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744,595
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468,289
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HAAHNE OlSSEAMEA XH
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2,000,000& »2&H

110,000& 2 122

H

H

H

W

H

H

61,360
61,360
42,000
42,000
4,800
4,800
4,320
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3,600
3,600
4,000
4,000
2,640
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61,240

120

201 fEt2E |

H

38,400
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01 AtR2 2t 2l bl
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OCEAEIE 222 M= 2,500,000 23] 5,000
= 5,000
O3 &H L AASY 4,400
-G BFHLY 100,000 *8H %43 3,200
= 3,200
M AR g 100,000 *3% %43 1,200
= 1,200
02 SB329H| 6,000 8,000 A2,000
028282 2 MA 1,000,000 1,000
= 1,000
OSSEBAAY KR 22 1,000, 0008 1,000
= 1,000
OAEZEH KXY 4,000
-AE 2 gXl22ll 2,000,000% 2,000
= 2,000
-BEMY RFH(WH) 2,000,000 2,000
= 2,000
03 A2 H 1,000 2,000 1,000
OCEHAEE EdAl L 2FHE S AR
= 1,000,000 1,000
= 1,000
202 01| 5,000 5,000 0
= 5,000
01 22U o H 5,000 5,000 0
OY2 =X J|=20{H(3Y) 5,000,000& 5,000
= 5,000
301 LetE A2 9,000 104, 120 £95,120
= 9,000
09 BALAHI 2 A S 9,000 9,000 0
OS2 AEIE EAMAL L 23 HE S AL
Hl 24 3,000,0008 x33] 9,000
= 9,000
307 QI2t0| & 101,200 0 101,200
= 101,200
11 ABIE XA E R 101,200 0 101,200
OCEZAEE T2 29 (400)
101,200,000 101,200
=] 101,200
CYAEIENES MY U2 XY 5,600 5,000 600
101 124 5,600 5,000 600
04 JIZHHM22XSE 5,600 4,000 1,600
OCEAEE OISAY 22X(3Y) ¥ ois=
X WAH(1Y) YEEIHl 700,000 «4H %23 5,600
OFEEX DA XL 133,744 127,194 6,550
= 66,872
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,031
Al 56,841
101 @144 dl 133,744 127,194 6,550
= 66,872
< 10,031
Al 56,841
04 JIZHHZ22XEE S 133,744 127,194 6,550
OOtS=XIWAH(ALEI = L Xtel) (9% ,8IHE)
133,744,000& 133,744
= 66,872
< 10,031
Al 56,841
ANSotsdH 22H X& 843,860 746,460 97,400
= 415,680
= 62,352
Al 365,828
307 glz2+ol & 843,860 746,460 97,400
= 415,680
= 62,352
Al 365,828
10 ALSISXAIEEE 22X 843,860 746,460 97,400
OXGotsdEH 2 (1402) 843,860,000& 843,860
= 415,680
< 62,352
Al 365,828
S=8d Nd0otsdH =X 64,800 0 64,800
= 32,400
< 4,860
Al 27,540
307 21201 A 64,800 0 64,800
= 32,400
< 4,860
Al 27,540
10 ALSISXAIEEE2IHEX 64,800 0 64,800
OS2+=XE NG0ts4dH X2 (6H2)
64,800,000 64,800
= 32,400
= 4,860
Al 27,540
EQRE NYotsdH LA 3,648 0 3,648
= 1,824
< 274
Al 1,550
307 21201 A 3,648 0 3,648
= 1,824
< 274
Al 1,550
10 ALSISXAIEEE2FHEX 3,648 0 3,648
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= W
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Al 17,280
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< 24,000
Al 24,000
301 et a3 48,000 0 48,000
< 24,000
Al 24,000
01 A3l EE H 56l = 48,000 0 48,000
OXNYGOIsSHEH BAX S22 (36Y)
48,000,000 48,000
< 24,000
Al 24,000
FofSe XNEotsdEH XA 25,200 25,200 0
< 12,600
Al 12,600
307 21201 A 25,200 25,200 0
< 12,600
Al 12,600
10 AL SXNAIEEE2EHEX 25,200 25,200 0
OXMHSE XAOotSHE(1914A) 25,200,000 25,200
< 12,600
Al 12,600
NEotsdEH gHEs X2 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
11T ASI S XA E = 4,000 4,000 0
OXNS0otsSHE LES OHA 4,000,000& 4,000
ZA0IES 24 XA (XNA0SHH) 400,000 400,000 0
< 120,000
Al 280,000
307 21201 A 400,000 0 400,000
< 120,000
Al 280,000
11T MISRASEEX 400,000 0 400,000
OZANES SAKNA(NGOLSHE)(14MHA)
400,000,000& 400,000
= 120,000
Al 280,000
NEotsdE S ASALA AHl X 33,600 33,600 0
301 L2 A Z 33,600 33,600 0
01 MEIBEE 53 33,600 33,600 0
OXY0otsdE SASALA 1214l XI&
200,000 1400 2o x12& 33,600
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O0t=sEX A4 ZEALAF A& H|(33H)
50,000& «33H x12& 19,800
& 19,800
XNE0otsSHEH MEESH| 10,500 0 10,500
= 3,150
Al 7,350
307 212t0| & 10,500 0 10,500
o= 3,150
Al 7,350
11 A EXAIEE X 10,500 0 10,500
OXY0ot=s4dH HEe=H X
15,000& *350H *x23| 10,500
= 3,150
Al 7,350
HESHAY (A= X)) 114,200 105,300 8,900
= 67,040
Al 47,160
Jl2dYl (AMal=2X3H) 45,760 43,460 2,300
Jl23H| (AtS 2 X ) 45,760 43,460 2,300
201 et 15,500 15,500 0
01 AP 2t 2] H| 15,000 15,000 0
OBASI A2 22| | 15,000,000 15,000
02 2224 H| 500 500 0
ORERI(SIRHEES E) 500,000& 500
202 o4 | 24,960 24,960 0
01 2Ll 24,960 24,960 0
OJI2d224=30H|(13H) 24,960,000 24,960
203 Y2 =&XH| 3,600 3,000 600
04 FEASHEYIFFEH| 3,600 3,000 600
OBRAN2IEARE=XHl (202! 0ldH)
300,000& x12& 3,600
405 KHoHFE S HI 1,700 0 1,700
01 XA E B F S| 1,700 0 1,700
QA U M2k A (50H) 1,700,000& 1,700
ol 2 AH|(AFSI = Xl 1}) 68,440 61,840 6,600
= 67,040
Al 1,400




SN ALSI S X
B SRR (AT D)
¢l A2 (AE S X1 (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FAHNS OIS SEAMEIA XA (2HHl) 67,040 61,840 5,200
= 67,040
101 @14 Hl 67,040 61,840 5,200
= 67,040
03 RIHAZZ T E =+ 67,040 61,840 5,200
OEHAEE 8ola QA (I HAZ 2R 67,040
-Jles 1,900,000 »2H 123 45,600
= 45,600
-2 RE= S 250,000 x2H 128 6,000
= 6,000
“ANZ2tel=" & 200,000 x2H 128 4,800
= 4,800
-0idl ¥ W=|H S 150,000 x2H 123 3,600
= 3,600
-=AlH| 110,000& 2 128 2,640
= 2,640
—EIAEYZ 2,200,000& »2H 4,400
= 4,400
CEAEEDNS A2 92 X (Q12AH]) 1,400 0 1,400
101 14 Hl 1,400 0 1,400
03 RIHAZ 2T E =+ 1,400 0 1,400
OEHAEE OtSAY 22X YE SO0 (1Y)

700,000& »22| 1,400




